EXFYPNZEES

() PRk 274 44 1H () Pk 284 3A31H
(HAZ - 1)
BERHE LEERERERIFEEARAEL 18k
&I 7,317,691 7,352,878 A 35,187
FHE U 2,855,668 2,443 851 411,817
ﬁ%%‘%#ﬁﬂtéﬂ&ﬁ 17,947,568] 15,263,995 2,683,573
g2 2t E U 71,726,277] 67,482,260 4244017
ERDE £ JEA 0 86,000 A 86,000
2% EETNES 4599252 4885970 A 286,718
a2 EEEINES 83,324,057  89,388,840[ A 6,064,783
| EEEU Y —EXFFERE 11,582,561 10,382,190 1,200,371
> %wﬁﬂwﬂxﬁ 1,160,453 1,790,024] A 629,571
—ERFEEFNIRIEET (1) 200,513,527 199,076,008 1,437,519
Mg{c% 148,524,476] 144,561,387 3,963,089
EE T 30,194,115] 30,013,228 180,887
=BE 19,796,345 22,302,751] A 2,506,406
EHEEE 0 80,000 A 80,000
HE SRR E 1,948,772 2,004,398 A 55,626
2EEER 35,000 35,000 0
B Rk & & 2,204,132 2,070,531 133,601
BHEE R 71,000 98,000 A 27,000
EmE R E 1,688,137 1,625,376 62,761
EEmEBEE SIS S EAREE A 496,879 A 472,944 A 23,935
ZRHMDER 0 0 0
Y—ERFEIERHET (2 203,965,098 202,317,727 1,647,371
—E R EENE R ELE (3)=(1)-(2) A 3451571 A 3,241,719 A 209,852
*I* = B F| B AD 2 S U A 494,577 500,944 A 6,367
e | EEZR5e 0 4E 0 0 0
2 |25 ZRHDY—E RFFHNINE 0 0 0
#| U —E ZFEFHSINERET (4) 494,577 500,944 A 6,367
B FTIFIE 0 0 0
| [EE 254018 0 0 0
i F ZRHMDY—E R EH5EH 0 0 0
H—EREENEHE (5) 0 0 0
J—ERFZHINEREZE 6)=4D-5) 494577 500,944 A 6,367
& F g ERE (7)=(3)+(6) A 2956,994] A 2740775 A 216,219
B EEHEE IS 430,000 0 430,000
REHEEFTHEINIE 0 0 0
fijrd BEEEETIE 0 0 0
SEX DA F NG 0 0 0
2% Bl 55 X 5 B4 A £ U 19,752,555]  29,344,004] A 9,591,449
H—E XX A& U 4,130,740 0 4,130,740
¥l [ZothoBERIRE 0 0 0
Al [BRIREEET (8) 24313.295]  29.344,004] A 5.030,709
g [EXEHEAZ 0 0 0
B [BEME 0 0 0
0| |BlEEEFTAE- LSS 0 0 0
A EEE e e Gl DRt R 430,000 0 430,000
EEXDBEBAESER 0 0 0
Al EEAEER 19,752,555  29,344,004] A 9,591,449
HY—ERAXLEEAESER 4,130,740 0 4,130,740
ZRHDERIEL 0 0 0
HalERHE (9 24,313,295 29,344,004 A 5,030,709
HAliE AJ&%@E (10)=(8)-(9) 0 0 0
s | IS E RS RERE (11)=(7)+(10) A 2956,994] A 2740775 A 216,219
WEEZH (12) 0 30,363 A 30,363
SEEENERERE (13)=(11)-(12) A 2956,994] A 2771,138] A 185,856
R RS i DE =% (14 62,614,345  65385483] A 2.771,138
% LR AR R R EN IR EZE (15)=(13)+(14) 59,657,351 62,614,345] A 2956,994
7| E=AEEXAREE (16) 0 0 0
w | EEHEEZEET (17) 0 0 0
g %@ﬁi’.@'%ﬁﬁﬁyﬁﬁgﬁ (18) 0 0 0
= ;% @%E_Lﬁaj@ﬁ (19) 0 0 0
(D1 K R =pp &l
#|(20)=(15)+(16)+(1 7)+(18)~(19) 59,657,351| 62,614,345 A 2,956,994




EXTFTHNZEEENRE HEBRUAEZESE)
(B) Rk 274 4H 10 (&) PRk 284 3H31H
(HAZ : H)

BERHE LEERERERIFEEARAEL 18k
&I 7,317,691 7,352,878 A 35,187
FHE U 2,855,668 2,443 851 411,817
B AL EIRNE:S 17,947,568] 15,263,995 2,683,573
I ZEE IR 8,886,277| 10,255,670] A 1,369,393
ERDE £ JEA 0 86,000 A 86,000
2% EETNES 4599252 4885970 A 286,718
a2 EEEINES 71,024457] 78,117,740 A 7,093,283
| EEEA Y —EXESTEING 11,582,561 10,382,190 1,200,371
E %wﬂﬂwﬂxﬁ 1,109,058 1,779,604] A 670,546
2 —E ZEERAET (1) 125,322,532 130,567,898] A 5245366
= Mﬂt% 102,551,786] 106,616,581] A 4,064,795
ﬁ;,l EE S 8,436,557 8,353,247 83,310
jo4 =BE 12,368,328] 13,432,275 A 1,063,947
- EHEEE 0 80,000 A 80,000
“~ % HEZSERL,EEED 1,948,772 2,004,398 A 55,626
DR EE B 0 0 0
= B Rk & & 2,204,132 2,070,531 133,601
BHEER 71,000 98,000 A 27,000
EmE R E 1,688,137 1,625,376 62,761
EEmEBEE SIS S EAREE A 496,879 A 472,944 A 23,935
ZRHMDER 0 0 0
Y—ERFEIERHET (2 128,771,833] 133,807,464] A 5,035,631
H—E X EEIEREL (3)=(1)-(2) A 3449,301] A 3,239566] A 209,735
HESEIETREEATE:: 492,307 498,791 A 6,484
e | EEZR5e 0 4E 0 0 0
2 |25 ZRHDY—E RFFHNINE 0 0 0
#| U —E ZFEFHSINERET (4) 492,307 498,791 A 6,484
B TILFIE 0 0 0
fi E@ 5t HiE 0 0 0
7 = ZRHMDY—E R EH5EH 0 0 0
D 'U- txlﬁébﬂ‘ﬁﬁﬁn-l' (5) 0 0 0
# [ F—ERFF B HZEEE 6)-(4)-(5) 492,307 498,791 A 6,484
R EISEEERE (7)=(3)+(6) A 2956994 A 2,740,775 A 216,219
SRE(HEFMB IR 430,000 0 430,000
REHEEFTHEINIE 0 0 0
fijrd BEEEETIE 0 0 0
SEX DA F NG 0 0 0
2% Bl 55 X 5 B4 A £ U 15,686,298] 29,344,004 A 13,657,706
H—E XX A& U 0 0 0
¥l [ZothoBERIRE 0 0 0
Al [BRIREEET (8) 16,116,298 29.344.004] A 13,227,706
Bl [ EEXEHEAZ 0 0 0
B [BEME 0 0 0
0| |BlEEEFTAE- LSS 0 0 0
A EEE e e Gl DRt R 430,000 0 430,000
EEXDBEBAESER 0 0
Al EEAEER 15,686,298 29,344,004 A 13,657,706
HY—ERAXLEEAESER 0 0 0
ZDHDERIIEL 0 0 0
HalERHE (9 16,116,298]  29,344,004] A 13,227,706
AR ZEERE (10)=(8)-(9) 0 0 0
s | IS E RS RERE (11)=(7)+(10) A 2956,994] A 2740775 A 216,219
WEEZH (12) 0 30,363 A 30,363
SR SR REER (13)=(11)-(12) A 2,956,994] A 2771,138] A 185,856
R RS i DE =% (14 62,614,345  65385483] A 2.771,138
% LR AR R R EN IR EZE (15)=(13)+(14) 59,657,351 62,614,345] A 2956,994
7| E=AEEXAREE (16) 0 0 0
i | E T HUBREAET (17) 0 0 0
g %@ﬁi’.@'%ﬁﬁﬁyﬁﬁgﬁ (18) 0 0 0
i | C D1 thDIEL 2 ta %0 (19) 0 0 0
o | RFFHREL: 1 L2 et 59,657,351| 62,614,345 A 2,956,994
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(H) Rk 274E 48 1A (F) PRk 284 3H31H

(AL - 1)

_ BERE LEERERERIFEERAEL 1R
IR SRS 62,840,000/ 57,226,590 5,613,410
NERRE XIS 12,299,600 11,271,100 1,028,500
47“ 2% Z DD UNEE 51,395 10,420 40,975
| H—E XFEEUNAEET (1) 75,190,995 68,508,110 6,682,885
El | A&E 45972,690] 37,944,806 8,027,884
Al |BXE 21,757,558 21,659,981 97,577
& | ERE 7,428,017 8,870,476] A 1,442,459
3] & EEER 35,000 35,000 0
ST BIBREER 0 0 0
1 = BHEER 0 0 0
B RmERE 0 0 0
0| ([EE#BEEEMNELEINEESE 0 0 0
B [FothnZEA 0 0 0
Y—EXFEERHE (2 75,193,265] 68,510,263 6,683,002
H—EREEIHEEELE 3)=(1)-(2) A 2270 A 2,153 A 117
*If IR ZHF RN INE 2,270 2,153 117
& RN e AlE A 0 0 0
z |25 ZFRMDH—E ZEF 5N 0 0 0
ZT|H—ERFEENSMNEEET (4) 2,270 2,153 117
B # XIFIE 0 0 0
M I ES T S 0 0 0
e 22 ZRMDH—ERFHINE R 0 0 0
o| [—EXRFEENERE (5) 0 0 0
[ U —E RIESIMERZEZE (6)=(4)-(5) 2,270 2,153 117
R EIEFEERE (7)=(3)+(6) 0 0 0
i e B 0 0 0
MR B EE TSI 0 0 0
Iz ElE & FE i 0 0 0
EEX DA F N 0 0 0
2% B g3 X 5o BT 4 A 2 IR A% 4,066,257 0 4,066,257
H—EXX L ERATINEGE 4,130,740 0 4,130,740
B [F0hERIIRE 0 0 0
Al |%ERIRAEET (8) 8,196,997 0 8,196,997
B EXEHEAZE 0 0 0
B | B EHMEE 0 0 0
0| |BExEEETINE-LniE 0 0 0
B2 EEEpEEEELEETE 0 0 0
FEXSEEAEER 0 0 0
Ails XS EEAESER 4,066,257 0 4,066,257
Y—EARLERALER 4,130,740 0 4,130,740
ZTRHMDEEFIEX 0 0 0
A& RE (9) 8,196,997 0 8,196,997
RS EEE (10)=(8)-(9) 0 0 0
sl e LELESIBEESE (11)=(7)+10) 0 0 0
BEEXH (12) 0 0 0
LHERE IS EEE (13)=(11)-(12) 0 0 0
*v";é AR ISR =S (14) 0 0 0
B LB AGHE DI EES (15-=(1914) 0 0 0
7| EASHEZE (16) 0 0 0
| EEENAEE (17) 0 0 0
g FNMDIEL L ERAnzE (18) 0 0 0
| TDMDIFILEIEILEE (19) 0 0 0
» mﬁﬂﬁé‘%ﬁ, B ik 2= BE 0 0 0
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